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ECONOMICS
( General )

Paper : 6.2

( Planning and Development in India )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following : 1x10=10
oS fAARs eq fan

(a) What is democratic planning?

sy AfReE 2

() When was the NITI Aayog’ of India
constituted?

SReR “NITI S’ foar S5 91 ¢afke 2
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(c)

d

(e)

(9)
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)
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(2)

What is the main aim of Import
Substitution Policy of India?

WWW%WWﬁS?

Define the term ‘economic globalization’.

AR eI’ wgs faan

Give one argument for favour of
privatization of Indian industries.

SRR SR (RPANFIR I o1 I
fam 1

What do you mean by SGSY?

SGSY WA .32

Is India a mixed economy? Give one

argument.
RS @3 e SR o T 2 9B I e

Mention one objective of ‘Act East Policy’.

‘o fire LT BT TP TCEY 0L

Write the full form of NEEPCO.-
NEEPCO-J *ff lco1 o1 |

Write one important cause of slow
economic growth of India.

SRSy T3 TLART TSI <61 @wged IR
o1

( Continued )

(3)

2. Answer the following questions : 2x5=10

oors AT 2peptRy Teq fian

(a) Mention any two sources of resource
mobilization of India’s Five-Year Plans.

SRS RS RFFPHT ffE @R &

CTCAT 701 TR Y BraY 7 |

(b) Give two arguments in favour of
economic reforms in India.

SRS FLAST TR FoCF o1 I woefan |

(c) Write two objectives of MGNREGA.
MGNREGA-I 701 St ot |

(d) Mention two functions of Planning
Commission.

sReEm1 e o1 FH SeEe 0

() Why is the economic growth rate of
Assam slower than all India average?
Give two arguments.

o e THaee TR SHeRey 1% T
el W 79 2 101 e i o
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(4)

3. Answer any four of the following questions :
5%x4=20

weTe 7a1 2pcaee R e wifeR Ty fawn ¢

(a) Discuss the achievements of NEC.

TE9-R AREE TFTOPTIR ACEAG 41 |

(b) Is there any need of foreign investment in
the context of policy of economic self-
sufficiency of India? Give reasons.

SReR AT SRS Ay “fRtafres
e REER @I S AR ST 2
FRPIR TE F0

(c) Distinguish between centralized and
decentralized planning.

RS uF RFhipe ARFER N4 (e |

(d) Analyze .the salient features of India’s
Five-Year plan.
SRSy AT RT3 @HEBPER I
391

(e) “The Five-Year Plan of Assam is a carbon
copy of Indian Five-Year plan.” Do you
support this view? Give arguments,
“epE AT RFFA T SO opeeqrie
JARTTAR % TR A 1”7 BRECH ofy Swefw
41 2 g faan o
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4. Answer the following questions :

(5)

Explain the various features of
decentralized planning of Assam.

TR Redige AR [fes  @FErz

TR F1T

©eTS firgl erepTyRs ed i

(a)
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How are the strategies and goals of
economic planning in India changed in
the post-liberalization period? Explain.

TR eSS SR AiAfew
ARFTAR  FPE W TER P RIS
CCR, 0 41

Or / 9[I

Describe the achievements and failures
of Indian planning during post-
liberalization period.

TRET TR oRE0 STHHRES  ARTEAR
AT H[FE ﬁﬁ@l’i‘ﬂ]? 3 FA |
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)

(c)
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(6)

Examine the role of Foreign Direct
Investment during the reform period of
India.

AT FAFRY PN SIS AOTF (ICTF
Rivcnem g « =R 3311

Or / 9«1

Discuss the present composition of
foreign trade of India.

Tefes Iere SRR QRS AMER o=
HICEAA 41 |

Describe various achievements and
failures of decentralized planning of
India.

Ry Reefige ResmR Ren seerer o
Reeropnz 341 F41 |

Or / 9%qT1

Give the arguments in favour of |

liberalization of industrial sector in
Indian economy.

sRoE WA Trwie 4ed THRIFIW ACH
1 Ifemrgz fam |

( Continued )
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(7))

(d) Explain five important poverty alleviation

programmes implemented by the
Government of India during recent times.

AFRSF ATMYAC SRS PRI AQT F90
Si5< 70 wR@el [RIFT SO M F47 |

Or / 911

What do you mean by poverty line?

Explain various causes of poverty in
India.

RueR M w & @2 SR’ "RueR
RfSa srermR I w01
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